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14k gold

18k gold

24k gold
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Clues for Logic Puzzle: Q509GQ

1. Of the ring that cost $1200 and Wanda's ring, one is made of 24k gold and the other has the sapphire.

2. Of the piece made of silver and Virginia's piece, one has the amethyst and the other cost $1200.

3. Of Sonja's piece and the ring with the topaz, one is made of 24k gold and the other cost $1400.

4. The ring with the diamond cost 300 dollars less than the piece made of 14k gold.

5. Sonja's ring cost 300 dollars more than the piece made of 18k gold.

6. Gina's ring cost 300 dollars less than the piece with the ruby.

7. The ring with the aquamarine cost 400 dollars more than Cheri's ring.

8. The ring made of titanium cost 100 dollars more than the piece with the sapphire.
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